Grand Test — SCP-180548 4. RACKE

SBI Clerk Preliminary Grand Test —-SCP-180548
HINTS & SOLUTIONS

32.(5) The number series is as follows:
ANSWER KEY The number s
53x3+4=163
21.(2) | 41.(3) | 61.(1) 6% Bh S 68T
22.(4) | 42.(1) | 62.(3) 657 x 5+ 6= 3291
3291 x 6+ 7 =19753
23.(1) | 43.(5) | 63.(1) ) The number series is as follows:

14 x3+1.5=43.5
24.(3) | 44.(3) | 64.(3) 43.5%x 6+ 3 =264

25.(5) | 45.(2) | e5.(2) 264 x 12 + 6 = 3174
3174 x24+12=76188
26.(2) | 46.(3) | 66.(1) . The number series is as follows:

120+ 8 =15
27.(1) | 47.2) | 67.(2) e x 7 - 108

28.(4) | 48.(2) | 68.(2) 105+ 6=17.5
17.5 x 5=87.5
29.(5) | 49.(1) | 69.(4) 87.5+4 = 21.875

. The number series is as follows:
30.(3) | s0.(4) | 70.(5) HOG & 193% | = R0

31.(4) | 51.(5) | 71.(3) 223 : gg g - *13227

32.(5) | 52.(2) | 72.(4) 1237 + 123 x 4 = 1729

1729 + 123 x 5 = 2344
33.(5) | 53.(4) | 73.(2) 2344 + 123 x 6 = 3082

R ired . of
34.(3) | 54.(1) | 74.(4) eduired no. ot men

= 3250 x 792 X g =429
35.(2) | 55.(5) | 75.(5) - 360 5

Required rati
36.(5) | 56.(2) | 76.(2) equired ratio

3 13 516 7
37.(3) | 57.(1) | 77.(5) = 3250 x oox 52 13250 % o x 7o

38.(5) | 58.(1) | 78.(4) = 169:364=13:28

No. of men in production department

136.8 3 088
360 5
Total no. of employees in production de-

partment

HINTS & SOLUTIONS - 3250 x 1268 _ 1935

360

39.(2) | 59.(3) | 79.(1)

= 3250 x

40.(5) | 60.(5) | 80(4)

988 )
" Required% = | 1535 %100 |% = 80%

No. of women in the IT department

2.(1)
4.(3) :
7-(3) . 57.6 3
9.(4) = 3250 x — 0% 75 = 156
12.(2) . Required%

{ 156
~ 13250
Required no. of men

XlOOJ% = 4.8%

136.8><i+36><E+57.6><l
B 3250>< 5 25 10

360 +79.2><§+50.4><£
5 13

The number series is as follows:

- 325
949 x 0.2 = 189.8 =222%|109.44+17.28 +40.32 + 47.52 +
189.8 x 0.3 = 56.94 36

56.94 x 0.4 = 22,776 =1937+210=2147.
22.776 x0.5=11.388

11.388 x 0.6 = 6.8328

302.4)
13
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I. 2¥-29x -126=0
= 2yf-36x +7x -126=0
=2x(x-18)+ 7 (x-18)=0

1400
41.(3) Original price of cinema tickets = 20 x100=%2,000

.". Reduced price = 2000 — 1400 =3600
e i 18
II. »+19y -120=0
" 1 3 = y +24y-5y-120=0
20%==;25%=—;30%=— =vy(y+24)=5(y+24)=0
5 4 10
=vy=5-24
> I +8x—308=0
4 = x*+22x—14x-308 =0
1 = x(x+22)—14 (x+22)=0
=x=14,-22
0 2 Il.y> +47y +550 =0
=y*+22y+25y+550=0
. Discount% =(33x100j%=58% =yly+22)+25(y+22)=0
50 =y=-22,-25
Clearly, x>y
l.x* +8x—384=0
= x*+24x—16x-384 =0
= x(x+24)-16 (x+24)=0
=x=16,-24
A can complete % of a work in 5 days Il. VZZ— 43y +432=0
—=y’=27y—16y+432=0
=vy(y-27)-16(y-27)=0
= B can complete % of the work in 10 =y=16,27
Clearly, x<y.

600
.. Original price of one ticket = T =340.

Discount=50-21=29

A can complete the work in 15 days

days

. B can complete the work in 25 days. . |, 14x-25=59-7x
= 14x+ 7x=59 + 25

= 21x=84

@ = x=4
/ I 1312+ 122 =142

A B = 13y°= 196 - 144
I‘Siv 125 = 13y?=152

5 3 = y=4

75 = y=+2,-2

Both complete the work in o days Clearly, x> y
3¢+ Tx=6
3x+7x-6=0
3x¥+9x-2x-6=0
Total CP of prOdUCtA =900 +300 = %1200 3x(x+3)-2(x+3)=0

- 105
SP = 1200 x 100-?1,260 ng,fs
SP of product C =2000 + 500 + 250 = 32,750 1047y +1=0
CP of product B =800 + 300 = 31,100 = 10y*-5y-2y+1=0

2750 = 5y (2y-1)-1(2y-1)=0
.. Required % =| ——x100 |% =250%
1100 1

3
- 9g days

= 2’%
Loss on product D =3 wa Let the new averae of runs be x.
95 ATQ

Loss on product B =3300 if (;;x4; 3}6?3 :15;5)(

50005 = %= 68
.. Required ratio = 9 :300=50:57. 60 = Capacity of tank

Total CP of product E = 6000 + 400 = 36,400
107 Capacity of tank
..SP=6400x——=36,848

SP of product C = 2000 + 500 + 250 =32,750 P g %
.. Required difference = 6848 — 2750 =34,098 S +10 -1s
Total CP of product A =900 + 300 =31,200 12 ! l

A a

- SP of product A = 1200 x %0 _ %1080 Total quantities of water in tank in 1 minute
N 100 ’ =12 +6—4 =14 litres

SP of product E =X 6,848
.. Required less%

[ 68481080
6848

60
.. Required time =— minutes

xlOO}%:84.22%z84%. :E minutes :4z minutes
7 7
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58.(1) Let the length of first train be 2x m.
.. Length of second train be x m.

ATQ.

+2 3
L S y PN

5
(93+51)x > 40
18

40x24
x=—2 _320m

.. Length of first train =320 x 2 =640 m
Total distance covered in 66 seconds by first train

:66><93><i =1705m
18

Length of plateform

=1705-640 = 1,065 m
Ratio of profit among P, Q and R
= (42000 x 4 + 30000 x 6) : (30000 x 4 +
24000 = 6) : 28000 x 4 + 20000 x 6)
= 348000 : (264000 : 232000
=87:66: 58
Prolﬁt share of R in the profit

3
= X 66 =
511 79,900

J454 +985-?? + 18.752 = 18.9001
= f1439-7?+19=18

1
_P2x — =
= 38-72x 19 18

= ?#=20x19

= ?2=380

= ?7=19.49=19

1127 x 1373+ 16.5=7

?~ 1127 x 83

=93541 ~93780

3.001 of 299.87 = ?% of 6271.98 —2236.004

?
=3 x300 ~——x6300-2236
100

=63 x?=2236+900

3136
=?=—+-=49.77=50.
63

\/824 x(12.248)* +3/1345 =?

= ?%29x1728 +11=29x157.09 =4555.63 ~ 4500

788.475+3/45876 +4.5245="?
—=?~788+36+5~788+7=795~800

Radio

—
-

I. True II. False
Only conclusion Il'is true

Food
=)

. False Il. True
Only conclusion Il'is true

 RACK

68.(2) | False Il. True
Only conclusion Il is true

69-70.
Bottle

l. False II. False
Neither conclusion | nor Il is true
I. True II. True

Both conclusions | and Il are true
G
2y5km, "
Skm
A"
Skm

F

71.(3)
73-75. Q"

All— HReMY

y L
74.(4) 75.(5)
Eshan

Gaurav RS Matrimony Bhim
RS Tech Raymond

|
v

Anwar A | Chetak
RS Publication RS Defence

N

Fardeen Himesh Dinesh
RS Meditech RS Campus RS Tower
77.(5)
79.(1) 80 (4)
Second Fourth Third Sixth First Fifth Eighth Seventh

¢+ 1+t

[ I | I I I
B D A F G & H E
82.(2)
84.(2)
Pawan
udit (Bihar)
(Haryana) Tipu
(MP)

Raushan Qasim
(Kerala) (Punjab)

Vivek
Javed (Delhi)
(Odisha)
87.(2)
89.(3)
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91.(2) B>=D=F<C=H
I.H=D — False
II.H>D — True
Only conclusion Il'is true
P<R=Q>V
I.V=P — False
V<Q<T
I.T>V — True
Only conclusion Il'is true
P<R=Q>U
I.U>P — False
P<R=Q>V
I.LR<V — False
Neither conclusion | nor Il is true
E>I=J<L=M>0<S
I. M>I- True
II. S<E — False
Only conclusion [ is true
I. L>0— True
II. E>J— True
Both conclusions | and Il are true.
France
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